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PHYSICS SSC-
SECTION — A (Marks 12)

--Time allowed: 20 Minuﬁes

e

'NOTE: Section-A is compulsory. All parts of this section are to be answered on the question paper itself.

# should be compieted in the first 20 minutes and handed over to the Centre Superintendent.
Deleting/overwriting is not atlowed. Do not use lead pencil.

s

Circle the correct option i.e. A/ B/ C/D. Each part carries one mark.‘
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For Examiner’s use only:

0.000000008 Lz = nm .

A 0081 B. 081 c. 81 D 810
108kmh™ = ms”™ '

A 10 B. 20 c. 30 D. 40
Change in position is called: - _

A Speed B. Velocity - C. Dispiacement D. Distance
What is St unit of coefficient of friction? ‘ o
A, - Metre B. - Kilogram - C. Second D, No unit
Mass of a body is 2000 g. Its weight on the surface of earth is:

A 20000 N B. 2N . . C 20N D. © 02N

f F = 200N and 6 = 30° with horizontal then what will be’the value of F, ?
A . BON ~B. 100N C.  1732N D.~ 200N

The value of g on moon’s surface is 1.6 ms ™ : What will be the weight of a 100 kg body on the

- gurface of the moon?.

A 100N B. 160N - C.-  1000N D.  1600N

- A body of mass 50 kg is raised to a height of 3 m. What is-its potential energy?
A 500 B. . 10004 c. 15004 - D’ 150
Pressure of 76 cm of mercury column is “Pa. '

A 10300 B 13,100 c. 101,100 D. - - 101,300
In which of the folloWing the molecules do‘no‘t leave their mean position? ' , .
A Soid B, Lqud . C.  Gas . D Plasma
On Fahrenheit'scale,' the interval Between lower and upper fixed pbints" is divided intd

. equal parts. I ‘ _ . '
A 180 B 32 c. 2127 D 213

" Sl _urﬁt of thermal conduptivity is:

A Wk B Wk c.  Wmk D.  Wm'k

Total Marks: 12 | .
Marks Obtained: L
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PHYSICS SSC-|

Time allowed: 2:40 Hours Total Marks Sections B and C: 53

™ NOTE: Answer any eleven parts from Section ‘B’ and any two questions from Section ‘C’ on the separately
provided answer book. Use supplementary answer sheet i.e. Sheet-B if required. Write your answers
- neatly and legibly.

- SECTION - B (Marks 33)

__ Q.2 Answer any ELEVEN parts. The answer {o each part should not exceed three to four tines. (11x3=33)
- (i) Define ‘base guanfities’ and 'derived quahtities’. Also give one example of each.

- (i) Express the following quantities using prefixes:

- a. 5000g b. 2000000 c. 52x107"°kg

e (iii) Draw distance time graphs for an object:

Wk a At rest '

' b. Moving with constant speed

o ‘c.  Moving with variable speed

s (iv) A body of mass 5 kg is moving with a velocity of 10 m.s™" . Find the force required to stop it in 2 seconds.

. (v) Friction is a necessary evil. Why?

. {vi) Two children are sitting on the see-saw such that they cannot swing. What is the net torque in this
o situation? . |
- o {vii) What is the relation between stability and position of centre of mass?
{viii)  How can you say that gravitational force is a field force?

(ix) What is chemical energy? Explain briefly.

(x) A girl carries a 10 kg bag upstairs to a height of 18 steps, each 20 cm high. Calculate the amount of
- : work she has done to carry the bag. (g =10ms™)

e “(xi) . The weight of a metal spoon in airis 0.48 N, its weight in water is 0.42 N. Find its density.

(xii)  What is up thrust? Explain the principle of floatation, | ' '

{(xil)  Why is water used in cooling system of automobiles?

7 (xiv) How does bimetallic strip work? ’

- ' - {xv) - Deserts soon ge{-hot dufing the day and soon get cold after sunset. Why?

' . SECTION — C (Marks 20} -

W Note: Attempt any TWO questions. All questions carry equal marks. S (2 x10 = 20)
% Q.3 a What is a physical batance? Explain. : S - N (03}
s - b, Derive 2aS =vi-vi. _ . o R . (04)
— 7 . c. A body has weight 20 N. How much force is requirad to move it vertically upwards with
e an acceleration of 2ms™ 2 - . . ‘ ‘ ‘ o . - (03)
b Q.4 - a. What is meaht by stable and unstable equI{ibrium’} Explain. . - : , ‘ B {2+2)
. b. Derive an expression for the orbital speed of an artificial satellite. | T (04).
c. A motorboat moves at a steady speed of 4ms™ . Water resistance acting on it is 4000N.
: Calculate the power of its engine.” . R R : : {02)
. Q.5 a. Wirite a nbte on hydraulic braking systerh in vehicles.- . . - {03)
- ' b. A container has 2.5 fitres of water at 20°C . How much heat is required to boil the water? {03)
c. ~ Write a note on abb[icatidﬁ and consequences of radiation. . I o (2+2)
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PHYSICS SSC-I
SECTION — A (Marks 12)

Time allowed: 20 Minutes

NOTE: Section-A is compulsory. All parts of this section are to be answered on the question paper itself.
It should be completed in the first 20 minutes and handed over to the Centre Superintendent.
Deleting/overwriting is not allowed. Do not uselead pencil.

Circle the correct option i.e. A/ B/ C/ D. Each part carries one mark.

(i) 48000000 = MW.

A 4800 B. 480 ' - C. 48 D. 4.8
(ii) 32x10° in standard form is equal to:

A 3.2x10° B. 3.2x10° C. 3.2x107 D. 3.2x10°
(iin) Acartravelingat  10ms™' accelerates uniformiy at 2ms ™. What will be its velocity after 55 ?

A. 10 B. 50 C. 20 D. 40
(iv) A boy jumps out of a moving bus. There is a danger for him to fall:

A Towards the moving bus ' -‘ B. Away from the bus
‘ C. In the direction of motion of bus D. Opposite to the direction of motion of bus
(v) if F=200N and @ =30° then what will be the value of Fy?

A 50N B 100 N C. 173.2 N D. 200N
{vi) Centre of gravity of a uniform triangular sheet lies at the point of intersection of its:

A Lines B Cormners C. Medians D. Diagonals
(vii) Near the surface of the earth, the gravitational field strength is:

A SNkg B 10Nk C  ISNkg® D 20Nkg®
iiiy  The altitude of geostationary orbits in which communication satellites aré launched above the

surface of the earth is: . '

A. 850 km B. 1000 km C. 6400 km D. 42,300 km
{ix) A cyclist does 12 joules of useful work while pedalfing bike from every 100 joules of food energy which

he takes. His efficiency is ' precent.

A. 1.2 B. 88

c. 12 D 120
(x) Young’s modulus Y is equal to: | ,

L

A % B: %f— ' C. %%fw D. jAjL
(xiy Sl unit of latent heat of vaporization is: .

AT B. Kg ¢ Jrg D. Jkg™
(xii) Eagle, hawks and vulturesrare expert _ climbers. |

A Elactric - B, Chemical C. Potential D. Thermal
For Examiner’s use only:

| Total Marks: | 12

Marks Obtained:
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Time allowed: 2:40 Hours

PHYSICS SSCi

Total Marks Sections B and C: 53

NOTE: Answer any eleven parts from Section ‘B’ and any two questions from Section ‘C’ on the separately
provided answer book. Use supplementary answer sheet i.e. Sheet-8 if required. Write your answers
neatly and legibly, '

SECTION — B (Marks 33}
Q.2 Answer any ELEVEN parts. The answer to each part should not exceed three to four lines. (11 x3=33)

Note: .

Q.3

{1
()

(iii)
(iv)
(v}

{vi)
(vii)
(viii)
(ix)
(%)

()

(Xii)
(xiii)
(xiv)

(xv)

Define the term prefixes and write four breﬁxes commonly used.

Write the following in standard form:
a. 11.68x10 m b. 32x10°s c. 725%107 kg

Define gravitational acceleration. Give its Sl unit and value.

How are vector quantities important to us in our daily life?

A cyclist of mass 40kg exerts a force of 200N to move his bicycle with an acceleration of 3ms™ . How
much is the force of friction between the road and the tyres?

How does oiling the moving parts of a machine reduce friction?

Name three objects that work by the turning effect of forces.

Why is there a need of second condition for equilibrium if @ body satisfies first condition for equi!ibrium?

Can you determine the mass of moon? If yes, then what you need to know?

On reaching the top of a slope 6m high ffom its bottom, a cyclist has speed of 1.5ms™" . Find the kinetic
energy and the potential energy of the cyclist The mass of the cyclist and his bicycle is 40kg .

What is meant by the efficiency of a system?

Write three features of kinetic molecular model of matter.
Why is water NOT suitable to be used in barometer?
Convert 100°F into the temperature on Celsius scale.

Briefly explain why does land breeze blow from land towards sea?
SECTION — C (Marks 20)

Attempt any TWO questions. All questions carry equal marks. (? x 10 = 20)
On what factors does the accuracy in measuring a physical quéntity depend? | . (03)
Derive: S = Vi+ % at’ , _. , (04)
A bullet of mass 20 g is fired from a gun with. a muzzle velocity 100 ms™" . Find the recoil

of the gun if its mass is 5 kg. . : {03)
Differentiate between centre of mass and centre of gravity. . . . (62)

Calculate the value of g at an altitude of 1000 km. The mass of the earth is 6.0 x 10%kg .

The radius of the earth is 6400 k. , - _ - (04)
. What are fossil fuels? Explain. ' ©(04)
Explain construction and working of hydraulic press. {04)

An eleciric heater supplies heat at the rate of 1000Js~" . How much tirme is required to raise the
temperature of 200g of water from 20°C to 90°C? . ' (03}

Which measures can be taken to save energy in housés? (03)

—— 18A 1907 {ON) —
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